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Abstract

In this paper, the mass derived from the g_equation is assumed to be the mass of quark-lepton, and

is used to calculate the masses of the atomic nucleus.
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Mass(p%r) = Mass(pj) = Mass(p™)

Mass(p™) = 1.672622% 10727, = 9.382723 % 1072 57,y
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|Observation — Calculation| = 9.382720 — 9.382723|*1072 prev = 0.3 kev
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Mass(n?r) = Mass(ng) = Mass(n®)

Mass(n®) = 1.658093 10727, = 9.301220 x 1072 prev/

|Observation — Calculation| = |9.395654 — 9.301220|%10%2 prey = 9.44 prev
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// MKSC unit system : Masses [kg
4/ gcc -o Atom.exe Atom.c -1lm
#include
#include b.h>
#include ing .h>
#include g5 //
pi (+3.141592654e+00) /* \pai */
pc (+2.997924580e+08) /* velocity of light */
ph (+1.054571628e-34) /* Planck 5 constant bar */
Pq (+1.602176487e-19) /* elementary charge */
pe (+8.854187818e-12) /* permittivity */
Pg (+6.674286700e-11) /* gravitation constant */
ut (+4.702226001e+17) /* age of the Universe : electron (4, 3/3) */
fs ((pq * pq) / (4 pi pe * ph * pc)) /x fine-structure */
MeV (+1.0 / 7826617589 30) /% MeV */ /7
nnMax

iiMax

/* quark-lepton Mass */

M
tQL [nnMax] [iiMax];
1QL [nnMax] [iiMax]
mAT [aaMax] [aaMax]; /* Atom Mass */

bAT [aaMax] [aaMax]; /* Atom Binding Energy */

Mass */

Mp; /* proton

xZero(void);
xMassQL (void);

xSurface (double, double);
xMassPN(void);

xMassAtom (void);

xPrintQL (void);

xNNDC (void);

——————————————————————————————————————————————————————————————————————————— 1
main ()

xZero () ;

xMassQL () ;

xMassPN ()

xPrintQL (J;

xMassAtom ();

XNNDC () ;
T 1
zoid xZero(void)
int nn, ii;

/7
for( nn 0 B nnMax > nn nn++){
for Max +){
mQL[nn]tll] 2 utand i1 2 0L tand (347 = 0105
for( nn = 0 B aaMax > nn nn++){
for (ii_= Max +){
A Ton1 F135 "2 var tand 011772 0.0,
¥
fffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffff /7

/
void  xMassQL(void)

double aa, bb, mn;

n, iij;
77
aa = sqrt (((pq * ph) / sqrt(4.0 * pi * pg)) * (2.0 * pi / ut)) / (2.0 * pc);
for( nn = 2 ; nnMax > nn ; nn++){
mm 0 6
for (ii +){
bb = sgr ow(((double)u / 3.0) * sqrt(pe), (double)nn) / (double)(nn - 1));
mQL[nn?[ = bb;
10L[nn][11] = ( 7 pe) / mQLlnnl[iil;
3 mm-= mQL[nn][11
mQL [nn] [0] = mm;
N 1QL[nn] [0] = (ph / pc) / mm;
3
L e Sy O ittt bt 1/
%ouble xSurface (double sr, double sR)
s return( 4.0 * pi * pow(sr / sR, 2.0) )
/oo o o oo /7
void xMassPN (void)
double mm, ww, rr, bb;
//
t
? ace(l 0 * mQL[4]1[1], rr);
//
[
[
a
(
3
L ittty /7
void xMassAtom (void)

double qq, ss, mm;
double ¢q, cs, cm, cg;

int nn, 2z2z;
//
mm = (Mp - Mn);
qq = (mQL[4][1] + mQL[4][2]) * fs;
for ( n = 0 ; aaMax > nn ; +){
for(zz = 1 ; aaMax +){
= (double)(1nt)((d0uble)abs(nn - zz) / 2.0}
(3 /5. * (double)(zz - 1) * (double)(zz - 1);

(double)(zz - nn) / (2.0 * (double)(nn + 22));

)
(mQL [41[1] + mQL [4] [1]),
(double)(zz - 1)

if ( nn < DR
ss = (mQL [4]1[2] + mQL[4] [2]),
cm = (double) (nn 1)
if( 0 == nn ){
cm = 0.0;
bAT [nn] [zz] = + cm * mm (cq * qq + cs * ss);
N mAT [nn] [zz] = + ((double)zz * Mp + (double)nn * Mn) - bAT[nn][zz];
¥
3
L SNttt 1’/




//
‘{roid xPri
int nn;
/7
3
//
zoid xNND
#define
#define
#define
/7
//
#define
#define
FILE 5
FILE *fw;
char  bf[2
char bs [2
char ell
char fol
1/
double mQ,
double mC,
int zz,
int ii,
/7

if ( NULL

if ( NULL

whil
/7
}

}

¥
3
//

printf ("\n\n");

printf ("*=- YojaPanchan -=*\n");
printf ("\n");

prlntf("quark Lepton [MeV]\n")

prlntf(" u : g A\n");
for (n >= n++){
prlntf("'/.Qd H '/.+946e : ht9.6e : t+9.6e : U+9.6e :\n",
) nn, mQL[nn][0] * MeV, mQL[nn][1] * MeV, mQL[nn][2] * MeV, mQL[nn][3] * MeV);
printf ("\n");
printf (" quark lepton [kg]\n"),
prints (" n u g A\n");
for(nn = >= ; nn+H){
pr1ntf("'/2d : ‘/.+9.6e : %+9.6e : %+9.6e : %+9.6e :\n",
N nn, mQL[nnl[0], mQLInn] [1] mQL [nn] [2], mQL[nnl[3]);
printf ("\n");
prlntf("quark lepton [m]\n")
prlntf(" n : u : g \n");
for(nn = >= nn++){
prlntf("72d ) %+9.6e : %+9.6e : %+9.6e :\n",
) nn, lﬂL[nn] [0], 1QL[nnl (1], 1QL[nn]([2], 1QL[nn]([31);
--------------------------------------------------------------------------- /7
C(void)
Op (+1.67262177e-27) /* 9.38272046e+02 */
On (+1.67492735e-27) /* 9.39565379e+02 */
AMU (+1.66053904e-27)
printf ("\n\n");
printf ("Proton\n");
printf (" observ - calcu = %+9.8e - %+9.8e = %+9.8e [kg ] :\n", Op, Mp, fabs (0p) - fabs(Mp));
printfg"\obferv - calcu %+9.8e - %+9.8e = %+9.8e [MeV] :\n", Op * MeV, Mp * MeV, fabs(Op * MeV) - fabs(Mp * MeV));
printf ("\n");
printf ("Neutron\n");
printf (" observ - calcu = %+9.8e - %+9.8e = %+9.8e [kg ] :\n", On, Mn, fabs (On) - fabs(Mn));
printf (" observ - calcu %+9.8e - %+9.8e = +9.8e [MeV] :\n", On * MeV, Mn * MeV, fabs(On * MeV) - fabs(Mn * MeV));
printf ("\n\n");
rFile "mass.mas12" /x In File x/
wFile "Atom.dat" /* OutFile x/
56 + 2];
56 + 2];
4 + 2];
4+ 2];
bo;
bC, 1C;
mn, aaj
335
1= (fr = fopen(rFile, "r")) ){
1= (fw = fopen(wFlle, "u")) ){
for(ii = 40 ; 11++){
N fgets(bf 956, fr); ead
e( NULL != fgets(bf 256, fr) ){
strepy (fo, "
sprlntf(bs, %ehehehe”, bE[ 41, bf[ 51, bf[ 61, bf[ 71, bf[ 81)
= atoi(bs);
sprlntaf(bs "hehehehethe, bEL 91, bf[10], bf[11], bf[12], bf[131);
zz = atoi(bs);
sprlntf(bs, "i hehehehe, bf[14], bf[15], bf[16], bf[17], bf[18])
= at
:prlnsf%él s"'/. bf [20], bf[21], bf[22]);
for(ii =0 B 11++){ bs[ii] = 0x00;
for(ii = 0, ;oii+
if #
Yelse{
esse = bf[51 + iil;
jj++
}
b0 = atof(bs) * 1e-3; // [MeV]
for(ii = 0 ; 256 > ii ; ii++){ bs[ii] = 0x00; }
for(ii = 0, = 14 ii o dii++){
if ‘#° == bf [96 + 11] ){
strcEy(fo, "#)
Yelsed{ prea
else
v '= bf[96 + ii] ){
bs[jjl = b£[96 + iil;
Jj+*s
}
N ¥
m0 = atof(bs) * le-6 * AMU * MeV; // [MeV]
bC = ((double)zz * Dp + (double)nn * On - mAT[nnl[zz]) * MeV / (doubledaa; // Definition
1C = ((double)aa * ph) / (pc * mAT[nn][zz]);
fprintf (fw, "%s '/3d %3d ‘/3d %9.8e %+9.8e %+9.8e\n", el, aa, nn, zz, mAT[nnllzz] * MeV, bC, bAT[nnllzz] * MeV);
fclose (fw);
fclose (fr);
*************************************************************************** 1’/
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